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SSC GD 2022-23

In an election contested by two parties, Party D secured 12% of the total votes
more than Party R. If Party R got 176000 votes, by how many votes did it lose

the election?

Y UTIEAT G A1 7T Ueh YATH W, UTET D hl UTet R ¥ et WAl T 12% AR
ITH ATl AT uret R T 176000 W foet, @1 918 foha= 7al & 919 gR 82

a) 48000
b) 62000
c) 40000
d) 24000




SSC GD 2022-23

The population of a particular city is 5,00,000. If the annual birth rate is 5%
and the annual death rate is 1%, then what will be the population of the city
after 3 years?

Teh Tor9Te 9T& hT SIETEAT 5,00,000 Bl TTS SToeh S0 & 5% B TR ST Teg
T 1% B, AT 3 9 TS 9T hl TAHTAT T ERIT?

a) 5,95,502
b) 5,62,432
c) 4,44,498
d) 442368




SSC GD 2022-23

Find the greatest number of 6 digits number exactly divisible by 24,15 and 36
is:

24,15 3T 36 W T 7¥g frwT=T 6 3iehi ht aar® It wEAT 7a hifsiu)

a) 960954
b) 960960

<§ ) >> c) 960945
=t g
N N d) 999720



SSC GD 2022-23

Find the ratio between the fourth proportional of 2, 4, 6 and the third
proportional of 4, 8.

2, 4, 6 % AT STTATIAh AR 4, 8 o AL ATUATIAR o ST T STUTT ATA
EAIE 1Y

a) 6:11
| b) 4:
¥/ 7= 5% 0 c) 5:9



SSC GD 2022-23

The value of 25 - [20 - {10 - (7 - 2)}] is:
25-120 - {10 - (7 - 2)}] SHTHT &:

a) 12
b) 10



SSC GD 2022-23

A solid metallic cuboid of dimensions 64 cm X 36 cm X 44 cm is melted and
solid balls, each of radius 12 cm, are made from this material. The number of
balls will be

64 FHT x 36 THT x 44 THT STATAT o Teh 1 4T o TATH bl TUgeTT a1 JTam 8
3T 3 ATHIT & Tedieh 12 THT F3ST & 31| el 9710 AT 21 et shl ST fehat
F?

a) 12
b) 15
c) 10
d) 14




SSC GD 2022-23

Badri loses 15% when he sells his scooter for Rs. 17,000. At what price (in
Rs.), should he sell it to earn 18% profit?

Tt T T FHET T 17,000 FIX H I U 15% 6T 7T St 31 18% TS
AR T o ToT0 IW Thed i fohdl e WX (T H) o1 1802

a) 22,400
b) 23,900
c) 24,200
d) 23,600




SSC GD 2022-23

A and B can complete a work in 6 days. B and C can complete the same work
in 10 days. A, B and C together can complete the same work in 5 days. In how

many days can A and C complete the same work?

A 3R B Teh T okl 6 TAT W UXT ST Wehd &1 B 3R C 36T 1l i 10 To71 ¥ 00
FTHA 2l A, B IR C TreTent 36T T ot 5 TaHT H O30 SR Tehd 1 A 3R C 36T
T ol TR AT W U1 oY Aehd 52

a) 87 days
b) 8 days
c) 7 days
d) 77 days




SSC GD 2022-23

If A is one third of B, B is twice of C, D is two-third of A and the average of A,
B, C and D is 74, then the difference between A and C is:

afe A, B &1 U faeTs &, B, C HTIATE, D, A HT131-feTE € 3R A, B, C SR D
T 3NTT 74 B, a6 A 3T C & o= &7 3iaw fopanT 22

a) 32
b) 26
c) 28
d) 24




SSC GD 2022-23

The distance between two towns is covered in 8 h at a speed of 55 km/h. Ho

much time (in hours and minutes) will be saved if the speed is increased by 25

km/h?
< ITEX <k Sl oht g 55 ToRwi/eieT o1 TTTd & 8 e W a shl Tl 81 Al Thet 25
feret/eieT &t Fieg o &t AT, AT Toha |8 (et IR fomet o) Y = grit?

a) 3 h30min
b) 3 h 50 min
¢c) 2h30min
d) 2h 50 min




SSC GD 2022-23

When a number is divided by 3, 4, 6, 15 and 20, the remainder in each case is

1. Also, the number is the greatest 3-digit number. The sum of the digits of the

number is:

A Teret HE=T T 3, 4, 6, 15 3R 20 T TR fovar Smar 2, 9 ek Rufa o
YT 1 UTH SiaT 81 T &Y, I8 TEAT 3 3Rl <Al T I TEAT 3| TEAT & 3eht
EI-TWﬁ"T%:

a) 10
b) 15
c) 13
d) 16
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